Name : Perimeter and Area of Square and
Rectangle

Chapter : Perimeter and Area of Plane Figures

Grade : ICSE Grade VIII
EduSahara™ Assignment rade fade
License : Non Commercial Use

1. If the side of a square is 15.00 cm, the perimeter of the square =
D C

A B

(i) 57.00 cm (ii) 65.00 cm (iii) 60.00 cm (iv) 63.00 cm (v) 55.00 cm

2. If the side of a square is 11.00 cm, the area of the square =
D C

A B

(i) 139.00 sg.cm (ii) 115.00 sq.cm (iii) 121.00 sq.cm (iv) 147.00 sg.cm (v) 108.00 sq.cm

3. If the length and breadth of a rectangle are 15.00 cm and 11.00 cm respectively, the perimeter of the rectangle =
D C

A B

(i) 47.00cm (ii) 55.00 cm (iii) 49.00 cm (iv) 52.00cm (v) 57.00 cm

4. If the length and breadth of a rectangle are 15.00 cm and 5.00 cm respectively, the area of the rectangle =
D C

A B

(i) 75.00 sgq.cm (ii) 72.00 sq.cm (iii) 78.00 sgq.cm (iv) 70.00 sg.cm (v) 80.00 sq.cm



5. If the length and perimeter of a rectangle are 16.00 cm and 52.00 cm respectively, the breadth of the rectangle =
D C

A B

(i) 10.00cm (ii) 7.00 cm (iii) 13.00cm (iv) 5.00cm (v) 15.00 cm

6. If the perimeter of a square is 76.00 cm, the side of the square =
D c

A B

(i) 22.00cm (ii) 14.00 cm (iii) 16.00cm (iv) 19.00cm (v) 24.00 cm

7. If the perimeter of a square is 56.00 cm, the area of the square =
D C

A B

(i) 214.00 sg.cm (ii) 203.00 sq.cm (iii) 190.00 sq.cm (iv) 196.00 sg.cm (v) 171.00 sq.cm

8. If the area of a square is 121.00 sg.cm, the side of the square =
D C

A B

(i) 8.00cm (ii) 14.00 cm (iii) 16.00cm (iv) 11.00cm (v) 6.00 cm



9. If the area of a square is 169.00 sq.cm, the perimeter of the square =
D £

A B
(i) 52.00 cm (ii) 49.00 cm (iii) 57.00 cm (iv) 55.00 cm (v) 47.00 cm

10. If the area of a square is 121.00 sq.cm, the length of the diagonal of the square =
D C

A B
(i) 18.55cm (ii) 15.55cm (iii) 10.55cm (iv) 20.55cm (v) 12.55cm

11. If the length and perimeter of a rectangle are 10.00 cm and 32.00 cm respectively, the area of the rectangle =

D C

A B
(i) 60.00 sg.cm (ii) 63.00 sq.cm (iii) 55.00 sgq.cm (iv) 57.00 sg.cm (v) 65.00 sq.cm

12. If the length and perimeter of a rectangle are 19.00 cm and 74.00 cm respectively, the length of the diagonal =
D C

A B

(i) 21.17 cm (ii) 31.17 cm (iii) 29.17 cm (iv) 26.17 cm (v) 23.17 cm

13. If the length and area of a rectangle are 17.00 cm and 170.00 sq.cm respectively, the breadth of the rectangle =

D C

A B

(i) 10.00 cm (ii) 5.00 cm (iii)) 13.00 cm (iv) 15.00cm (v) 7.00 cm



14. If the length and area of a rectangle are 15.00 cm and 75.00 sq.cm respectively, the perimeter of the rectangle =
D C

A B

(i) 40.00 cm (ii) 43.00 cm (iii) 45.00 cm (iv) 37.00cm (v) 35.00 cm

15. If the length and diagonal of a rectangle are 20.00 cm and 26.25 cm respectively, the breadth of the rectangle =
D C

A B

(i) 20.00 cm (ii) 14.00 cm (iii) 12.00cm (iv) 17.00cm (v) 22.00 cm

16. If the breadth and perimeter of a rectangle are 9.00 cm and 38.00 cm respectively, the length of the rectangle =
D C

A B

(i) 13.00 cm (ii) 5.00 cm (iii) 10.00 cm (iv) 7.00 cm (v) 15.00 cm

17. If the breadth and perimeter of a rectangle are 15.00 cm and 64.00 cm respectively, the area of the rectangle =
D C

A B

(i) 255.00 sg.cm (ii) 283.00 sq.cm (iii) 252.00 sq.cm (iv) 267.00 sg.cm (v) 238.00 sq.cm

18. If the breadth and area of a rectangle are 13.00 cm and 247.00 sg.cm respectively, the length of the rectangle =
D C

A B

(i) 16.00 cm (ii) 19.00 cm (iii) 14.00 cm (iv) 24.00cm (v) 22.00 cm



If the breadth and area of a rectangle are 12.00 cm and 216.00 sg.cm respectively, the perimeter of the

" rectangle =
D C
A B

(i) 63.00cm (ii) 55.00 cm (iii) 65.00cm (iv) 57.00 cm (v) 60.00 cm

20. If the breadth and area of a rectangle are 8.00 cm and 104.00 sqg.cm respectively, the length of the diagonal =

D c

A B
(i) 18.26 cm (ii) 12.26 cm (iii) 10.26 cm (iv) 20.26 cm (v) 15.26 cm

21. If the breadth and diagonal of a rectangle are 8.00 cm and 19.70 cm respectively, the length of the rectangle =

D e

A B
(i) 18.00 cm (ii) 13.00 cm (iii) 21.00 cm (iv) 15.00cm (v) 23.00 cm

22. If the perimeter and area of a rectangle are 44.00 cm and 85.00 sg.cm respectively, the length of the rectangle =

D C

A B
(i) 12.00 cm (ii) 22.00 cm (iii) 20.00 cm (iv) 17.00cm (v) 14.00 cm

23 If the perimeter and area of a rectangle are 42.00 cm and 90.00 sq.cm respectively, the breadth of the rectangle

D C

A B
(i) 5.00cm (ii) 7.00 cm (iii)) 6.00cm (iv) 4.00 cm (v) 8.00 cm
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